(iii) Flow control
(iv) Order control

(¢) A department of a company has to process a large number of components/month. The process equipment time
required is 30 minutes/component and the manual skilled manpower required is 10 minutes/component. The

following additional data is available: -
availability/month efficiency of
utilization
Equipment hour 400 80%
Skilled manpower- 250 65%
hours

What is the maximum possible production under the current conditions?

(d) In a firm, there are four workstations: A, B, C, & D working in series and their individual capacities in units
per day are 400, 380, 350 and 410 respectively. The raw materials are fed to Machine A and the system output
is obtained from Machine D. If the actual output is 320 units per day, what is the system efficiency?

(¢) An analyst wants to obtain a cycle time estimate that is within * 5% of the true value. A preliminary run of 10
cycles took 50 minutes to complete and had a calculated standard deviation of 0.4 minutes. What is the
coefficient of variation to be used for computing the sample size for the forthcoming time study?

(f) A firm uses ¥20,00,000 in capital and 20,000 labour hours per year to produce Z2,00,00,000 in product. What
is the partial productivity of labour?

(g) Solve the game by dominance property:

g 2
8 6
6 4

(h) Calculate EBQ from the details: Monthly demand 2000 units, Setting up costs per batch %100, cost of
manufacture per unit —X30, rate of interest -10% p.a.

(i) Shin’s Car Wash & Dry is an automatic, five-minute operation with a single bay. On a typical Saturday
morning, cars arrive at a mean rate of ten per hour, with arrivals tending to follow a Poisson distribution. Find
the average number of cars in line.
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(j) The term ‘Poka Yoke’ is related to
(i) Material Requirement Planning ..;.i. ...,
(ii) Scheduling
‘¢iii) PDCA cycle
(iv) Fool-proofing
(k) How are spare parts classified for stocking policy analysis?

(1) Give the formula for ‘Throughput Time’. =~
2. (a) Whatis ASRS? 2

" (b) For a network shown in figure, normal time, crash time, and normal costs are given in the table; construct the
network by crashing it to optimum value and calculate the critical path, project duration, activities with least
cost slope and optimum project cost. Indirect cost is given as I95 per day. 10

3(2)
0,
Table : Activity Relationship
Activity Normal Crash
Time (days) Cost (R) Time (days) Cost R)
1-2 3 300 2 400
2-3 6 480 4 520
2-4 7 2100 5 2500
2-5 8 400 6 600
3-4 4 320 3 360
4-5 5 500 4 520
3. (a) What are the limitations of Preventive Maintenance? 2

(b) A solicitor’s firm employs typists on hourly piece-rate basis for daily work. There are four typists and their
charges and speed are different. It has been agreed that only one job will be given to one typist and the typist
is paid for a full hour even when he works for a fraction of an hour. Find the least cost allocation for the
following data:

Typist Rate/hour Number of Job No. of pages
pages
typed/hour
A 4 8 P 102
B 3 10 Q 135
C 5 11 R 110
D 3 9 S 85

10
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4. (a) Whatis ‘Vertical integration’? State its pros and cons. conducted in order to ascertain the product acceptability.
1+4

(b) What are the merits of Delphi method of forecasting technique.? . 5

(c) If a firm sells 5000 units, its loss is ¥10,000. But if it sells 9000 units, its profit is ¥10,000. Calculate its

(i) Fixed Cost; (ii) BEP. 2

5. (a) A company plans to fill four positions and it decides to conduct aptitude tests and interviews for the same.
While the aptitude tests are conducted by people from the clerical positions, the job interviews are held by the
personnel from the management cadre. The job interviews immediately follow the aptitude test. The time
required (in minutes) by each of the positions is given here,

Position P1 P2 P3 P4
Aptitude Test 100 110 140 120
Job Interview 70 90 80 110
If it is desired to minimise the waiting time of the management personnel, in what order the position filling be
handled? 5
(b) Arzuu Ltd.’s records of breakdowns of its machines for a 300 day work year as shown below:
No. of Frequency
breakdowns in days
0 40
1 150
2 70
3 30
2 10 -
300 '

The firm estimates that each breakdown costs ¥600 and is considering adopting a preventive maintenance
program which would cost 200 per day and limit the number of breakdown to an average of one per day.
What is the expected annual savings from preventive maintenance program?

(¢) Kindly mention the Principles of Total Quality. 2
6. (a) What are the advantages of KAIZEN Technique? 4
(b) State the three models of Productivity Measurement. 3
(c) Identify the relationship between R & D Inputs and Output. 5

Information Systems
Answer Question No. 7, which is compulsory and any 4 questions from the rest.

7. (a) What is a Deterministic type of System?
(b) From the following two relations of X and Y, find XUY.

Relation X
Batch no. Course
BA
CMA
BCOM
CA

AN -

Relation Y

Batch no. Course
BA
CMA
BCOM
CA
SAT
MA

NN PN
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10.

11.

12.

(4)

(c) What are the various types of financial models?

(d) What are the important components of General Ledger?

(a) State the main reasons for the Spread of E-commerce.

(b) What is an Executive Information System?

(c) Match the following with respect to a Data flow Diagram.

Column 1 Column 2
(1) (A) | Transformation Process
(i1) / (B) Data Stores
(iii) O (©)|  Data Sources and
Destination
(iv) - (D) Data Flow -

Discuss the areas which would help in analyzing/investing the Present System.

OR

Illustrate the Three Schema Architecture.

(a) Define Electronic Financial Transaction (EFT).

OR

Define Domains.

2x4=8

(b) Briefly explain the fact finding techniques used by the system analyst to find the needs of an organisation. 4

(c) What are the components of Business Information System?

2

“End users are the people whose jobs require access to the database for querying, updating and generating

reports; the database primarily exists for their use.” Explain the different categories of end users.

(a) List out the different objectives of MIS.

(b) What is configuration in ERP? List the General Mode of Configuration.

8

4
4




